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1. Side effect

2. tolerance

3. first-pass elimination
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(—) Type A choice questions
(only one answer is correct, 40 points, 0.8 points/item )
1. A drug is administered in a single dose of S0mg, after a period of time the plasma drug

concentration is found to be 1mg/L. The apparent volume of distribution is
A. 10L

B. 20L
C. 30L
D. 40L
E. S0L

2. PD; refers to

A. therapeutic index
antagonist

affinity index
dissociation constant
elimination rate constant
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. Among the following drugs, which will be excreted most quickly in acidic urine?
. a weak acid drug with pKa of 5.5

. a weak base drug with pKa of 7.5

. a weak base drug with pKa of 4.5

. a weak acid drug with pKa of 3.5

. a weak base drug with pKa of 6.5

. Which of the following drugs can induce hepatic microsomal enzyme
. rifampicin

. alcohol

. phenytoin

. phenpbarbital

. all of the above

. Which of the following B-blockers can be used in treating glaucoma?
. propranolol

. timolol

. pindolol
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. atenolol

E. metoprolol

6. Tachycardia is more common observed in phentolamine than prazosin because the former
A. has some M-agonist action

B. has some p;-agonist action



C. blocks postsynaptica,-receptors

D. blocks presynaptica,-receptors

E. stimulates heart directly

7. Adrenaline can be used to manage

A. cardiac asthma

B. acute bronchial asthma

C. chronic bronchial asthma

D. infectious shock

E. peripheral ischemic disorder

8. Which of the following drugs can cause insomnia

A. adrenaline

B. dopamine

C. ephedrine

D. isoprenaline

E. norepinephrine

9. Which of the following agents is effective in the treatment of depression

A.lithium carbonate

B.imipramine

C.chlorpromazine

D.haloperidol

E. fluphenazine

10. Chlorpromazine can be used for schizophrenia because of its

A. central depression

B. blocking muscarine receptor

C. blocking a-recepter

D.stimulating CTZ

E. antiemetic action

11. The oral antipsychotic drug that would be used for the patient with chronic psychoses to
maintain curative effect is

A. clozepine

B. penfluridol

C. chlorpromazine

D. chlorprothixene

E. haloperidol

12. The main reason for the combination use of levodopa with carbidopa is

A. to increase the absorption of L-dopa

B. to inhibit levodopa decarboxylation in the periphery

C. to inhibit MAO

D. to inhibit COMT

E. to increase L-dopa converting to dopamine directly
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13. The phenobarbital intoxication can be managed by
administration of NaHCQO3

administration of NH,Cl

coramine in large doses

enzyme induction

= 0w

injection of procaine

14. Extrapyramidal symptoms caused by chlorpromazine is due to

A. blocking DA receptor in mid-brain-limbic system

B. inhibiting a-receptor in brain

C. inhibiting DA receptor in tuberoinfunfibular pathway

D. inhibiting M-receptor in CNS

E. blocking DA receptor in nigrostriatal pathway

15. The cardinal mechanism of antidepressant action of tricyclic agents is
A. Blockade of NE and 5-HT reuptake peripherally

B. Blockade of NE and 5-HT reuptake centrally

C. Stimulation of reticular ascending activating system

D. Blockade of a-receptors

E. Blockade of M-receptors

16. Which of the following analgesic drugs can be used for artificial hibernation
A. pethidine

B. morphine

C. anadol

D. methadone

E. fentanyl

17. The drug of first choice to treat trigeninal neuralgia is

A. phenytoin sodium

B. carbamazepine

C. Phenobarbital

D. ethosuximide

E. primidone

18. All of the following actions of morphine are true EXCEPT

A. antitussive effect

B.dilating pupil

C.boosting intrabiliary pressure

D.inhibition of respiration

E.boosting of tension of the bladder sphincte

19. The antipsychotic drugs:

A. are equally effective against the positive and negative symptoms of schizophrenia
B. can cause blurred vision, urinary retention and other signs of muscarinic blockade

C. bind selectively to D,-dopaminergic receptors.
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D. have antiparkinsonism effects similar to levodopa.

E. have a rapid onset of antipsycheotic action.

20. Which of the following statements about morphine is INCORRECT?

A. It is used therapeutically to relieve pain caused by severe head injury.

B. Its withdrawal symptoms can be relieved by methadone.

C. It causes constipation.

D. It is most effective by parenteral administration.

E. It rapidly enters many body tissues, including the fetus of a pregnant woman.
21. A three-month-old infant is brought to the emergency room with seizures of the
tonic-clonic type. His mother reports that these seizures have been occurring for S0min. The
treatment of choice is

A. Diazepam i.v.

B. phenytoin

C. phenobarbital

D. carbamazepine

E. valproate sodium

22. The primary site of action of the following drugs is(are)
A.hydrochlrothiazide—thick ascending limb of Henle loop

B.triamterene—the distal segment of the nephron and as analdosterone antagonists
C.spironolactone—the cortex portion of the ascending limb

D.furosemide—the medulla portion of thin ascending limb

E.none of above is right

23. A 70-year-old female is treated with sublingual nitroglycerin for her occasional bouts of
angina. Which of the following is involved in the action of nitroglycerin?

A. a-adrenergic activity

B. Phosphodiesterase activity

C. Phosphorylation of light chains of myosin

D. Norepinephrine release

E. Nitric oxide released

24. The first choice for treating a reentrant supraventricular tachycarcardia is

A. propranolol

B. digitoxin

C. quinidine

D. verapamil

E. nifedipine

25. Which of the following antihypertensive drugs can treat morphine addiction?
A. enalapril

B. clonidine

C. prazosin

D. metoprolol



E. methadone

26. Which of the following diseases is NOT contraindication of glucocorticoids?
A.corneal ulcer

B.psychosis

C.diabetes mellitus

D.severe hypertension

E.Rheumatic fever

27.Which of the following drugs can inhibit a -glycosidase

A. gliclazide

B. glipizide

C. gliquidone

D. acarbose

E. metformin

28. Which one of the following drugs can inhibit H'-K'-ATPase and used in peptic ulcer?
A. Ranitidine

B. Pirenzepine

C. Omeprazole

D. Sucralfate

E. cisapride

29. The drug useful in preventing asthma but lacking bronchodilator action is
A.cromolyn sodium

B.ephedrine

C.isoprenaline

D.labetolol

E.metoprolol

30. Which of the following drugs is used for antifibrinolysis ?

A.vitamin K

B.urokinase

C.aminomethyl benzoic acid

D.adrenosine

E.none of the above

31. The severe adverse reaction of biguanides is

A.hypoglycemia

B.lactic acidosis

C.vomiting

D.blood dyscrasias

E.hepatic impairment

32. Large dose of iodine can be used to treat which of the following disease?
A.cretinism

B.solid edema



C.endemic goiter

D.thyroid crisis

E.mild thyroidism

33. Which of the following drugs is an inhibitor of hepatic microsomal enzymes
A.nizatidine

B.propranolol

C.quinidine

D.phenytoin

E.cimitidine

34. Which is the best scheme for treatment of pernicious anemia
A. folic acid

B. leucovorin calcium

C. Vitamin B12 orally

D. folic acid plus Vitamin B12 injection

E. Vitamin B12 plus ferrous sulfate

35. The antiplatelet mechanism of aspirin is
A. inhibiting COX in platelet

B. inhibiting COX in endothelium

C. inhibiting PDE

D. antagonizing TXA2 receptor

E. antagonizing GP I a/ITIb receptor

36. Glucocorticoids can be the first choice of
anaphylactic shock

infectious-toxic shock

hypovolemic shock

cardiogenic shock
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neurogenic shock

37. Which of the following is a withdrawal syndrome of glucocorticoids?
A. Induction and aggravation of infections

B. adrenal crisis

C. central obesity

D. Hypertension

E. Osteoporosis

38. The reason that glucocorticoids can be used in severe bacterial infection is
A.they can act as good antimicrobials

B.they are able to enhance the immunity of organisms

C.they possess an anti-inflammatory and antitoxic actions

D.the phagocytic ability of neutrophils can be promoted by these agents
E.they produce a synergistic action with antibacterial drugs

39.The drugs which are potent against the pseudomonas aeruginosa are
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A. piperacillin, gentamycin and cefoperazone (kFWRHEf)

B. erythromycin, piperacillin and cefoperazone

C. gentamycin, amoxicillin and cefoperazone

D. amoxicillin, oxacillin and piperacillin

E. cefoperazone, cefazolin and erythromycin

40.Which of the following compatibility administration is correct?
A. clindamycin + erythromycin

B. penicillin + tetracycline

C. gentamicin + streptomycin

D. streptomycin + vancomycin

E. gentamicin + penicillin

41.The agent that can relieve AIDS and AIDS correlating syndrome is
A. ribavirin

B. zidovudine

C. acyclovir(F1 &)

D. amphotericin B

E. amantadine (£NI5EH&)

42. Red man syndrome is caused by

A. SMZ

B. aminoglycosides

C. quinolones

D. chloramphenicol

E. vancomycin

43.The mechanism of action of rifampicin is

A. inhibits cell-wall synthesis

B. inhibits RNA polymerase

C. binds to the 30s ribosome subunit

D. binds to the 50s ribosome subunit

E. interfere with folic acid metabolism

44.Which of the following drugs may cause severe aplastic anemia?
A. penicillin G

B. doxycycline

C. chloramphenicol

D. streptomycin

E. tetracycline

45.SMZ act synergistically with TMP because

A. both of them act at the different steps in inhibiting folic acid synthesis
B. TMP inhibits the metabolism of SMZ

C. TMP can decrease accumulation of SMZ in kidney

D. SMZ inhibit B-lactamase



E. TMP can inhibit dehydropeptidase

46.0f the following, the true statement about isoniazid is
A. it is inductor of liver drug enzyme

B. it has effect on staphylococcus aureus (£EH)

C. it can not induce liver toxicity

D. it inhibits biosynthesis of mycolic acid (7 ¥ B R)

E. it is second line antituberculosis drug

47.Which of the following is not the adverse reaction caused by quinolones
A. phototoxicity

B. gastrointestinal reactions

C. cartilage damage

D. gray baby syndrome

E. central nervous system toxicity

48.Penicillin G can not be used to treat infection caused by
A. pneumonococcus

B. virus

C. spirochete (IZJig1%)

D. Diplococcus meningitidis (i 4 25 5 5)

E. hemolytic streptococcus

49.Whicch of the following drugs is the first choice in treating mycoplasma pneumonia?
A. chloramphenicol

B. penicillin

C. norfloxacin

D. streptomycin

E. azithromycin

50. Which of the following can be used forpseudomembranous enterocolitis (D474 )
caused by MRSA?

A. clindamycin

B. vancomycin

C. erythromycin

D. methicillin

E. tetracylines

(=) Type X choice questions

(one or more anser/s is/are correct, 10 points, 1 point/item)
51. Which of the following statements is(are) NOT true
A. Emax of drug is also called the potency of drug
B. an antagonist is the drug that interacts with receptor with high affinity and intrinsic
activity
C. the allergic reaction is the side effect of a drug
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D. some drugs have first-pass elimination after injection

E. all drugs are metabolized by hepatic microsomal enzymes

52. In a hypertensive patient who is taking insulin to treat diabetes, which of the following
drugs is to be used with extra caution and advice to the patient?
A. prazosin

B. propranolol

C. nifedipine

D. captopril

E. losartan

53. The drug which is effective in treatment of absence seizures is
A. phenytoin

B. nitrazepam

C. ethosuximide

D. clonazepam

E. sodium valproate

54. Diazepam possesses

A. antianxiety action

B. sedative action

C. muscle relaxant action

D. anticonvulsant action

E. amnesia

55. Which of the following drugs used in peptic ulcer possessing mucosa protection effects?
A. cimetidine

B. sucralfate

C. colloidal bismuth subcitrate

D. proglumide

E. misoprostol

56. Which of the following is(are) the clinical use of H;-receptor antagonists?
A. Allergic rhinitis

B. urticaria

C. allergic shock

D. peptic ulcer

E. motion sickness and nausea

57. Which of the following drugs may cause neutrocytopenia?

A. propylthioracil

B. ticlopidine

C. aminophylline

D. urokinase

E. phenytoin sodium

58. The agents that can inhibit bacterial protein synthesis include
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A. doxycycline

B. gentamicin

C. norfloxacin

D. azithromycin

E. cefazolin

59. Drugs that are effective on anerobe infection are

A. clindamycin

B. erythromycin

C. gentamicin

D. metronidazole

E. levofloxacin

60. The major toxicity and side effects of aminoglycosides is (are)
A. ototoxic and nephrotoxic reaction

B. cardiovascular toxicity

C. neuromuscular blocking effect

D. tooth damage

E. damage growing cartilage and cause arthropathy (3<75%%)

G PN

=, &R (Assay Questions, 40 points, 8 points/item)

1. please describe the pharmacological effects and clinical uses of pilocarpine in
ophthalmological (ARRIHI) diseases.

g | EEA
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2. Please describe the pharmacological actions and mechanisms of
Chlorpromazine on central nervous system.

s | EBA

3. Please describe the mechanisms of ACEI in the treatment of hypertension.

g | EEA
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4. Please compare the anticoagulative mechanism and characteristics of heparin and

dicoumrin.

g | EEA

5. Please compare the characteristics of the four generations of cephalosporins
respectively.

g | EEA
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